PreCalculus Homework





Name ___________________________________

Day 2 – Factoring & Trig Review




Date ___________________ Period ___________
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For #1, find all the sides and angles.
1. 








2. While flying an airplane, Fred sees a landing









strip ahead of him at an angle of depression of 










53o.  If his altitude is 1200 ft, how far is the 










airplane from the landing strip?
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3.      


A dead tree is struck by lightning causing it to fall over at a point 10 feet up from the base of the 



tree.  If the fallen treetop forms a 40o with the ground, about how tall was the tree originally?  

Factor the following completely: 






Solve by factoring:

4.  144x2 – 16


5.  x3 + x2 + 4x + 4

6.  8x3 + 27

7.  
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Solve by Quadratic Formula:
Solve by completing the square: 
Solve by using synthetic division:
8. 
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10.  x3 + 3x2 – 16x – 6 =0
Express in interval notation:

11.  {x| x > 9}


12.  {x|-2 ≤ x ≤ 21}


13.  {x| x < 6}

Solve by Quadratic Formula:
Solve by completing the square: 
Solve by using synthetic division:

8. 
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10.  x3 + 3x2 – 16x – 6 =0
Express in interval notation:
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